AF Linear Guide

TABILIZED RANSMISSION ~§ ORWARDING

[ 4

f—

il

|
b
|

- Smooth running due to new ball re-circulation (patent)
+ Smooth chain running due to no gap re-circulation (patent)

 Low friction running due to new chain lubrication system (patent)



BN, BL, BE
Spec. Assembly-mm Block-mm Rail-mm Rating load-Kgf |Block| Rail
Model H W| W2 | E L B|J | MQ| ih I L1 OilH ™ N Wi HI|F | d D h | C-BGC (1] Kgf KgfiM
BGCH15FN | 24 | 47| 16.0 (3.0| 586 |38 (30| M5 |44 | 8.0 | 40.2 | M4X0.7 | 55| (5) | 15 |13.0|60|45|75|6.0| 1174 2001 1 0.21 | 1.28
BGCH15FL | 24 (47| 16.0 |3.0] 66.1 [38|30| M5 |44 | B0 | 47.7 | M4X0D.7 | 55| (5) | 15 |13.0/60| 45| 7.5 | 6.0 1420 2419 |1 0.23 | 1.28
BGCH20FN | 30 |63 | 215 |45| 69.3 |53 |40| M6 | 54 | 9.0 | 48.5 MBEX1 7.1 1(15.6)] 20 |16.3|60| 6.0 | 95| 8.5 1806 3110 | 0.40 | 2.15
BGCH20FL | 30 (63| 21.5 |45| 821 |53|40| M6 |54 | 90| 61.3 | M6X1 | 7.1 /|(156)| 20 (16.3|60| 6.0 | 95|85 | 2341 4030 | 046 | 2.15
BGCH25FN | 36 | 70| 23.5 |5.8| 79.7 |57 (45| M8 | 7.0 |10.0| 57.5 MEX1 10.2|(15.6)| 23 |19.2|/60| 7.0 |11.0| 9.0 2534 4188 | 0.57 | 2.88
BGCH25FL | 36 [70| 23.5 |5.8| 944 |57|45| M8 | 7.0 |10.0| 72.2 | M6X1 |10.2|(15.6)| 23 (19.2|60| 7.0 (11.0/ 9.0 | 3256 5383 | 0.72 | 2.88
BGCH25FE | 36 | 70| 23.5 |5.8|109.1|(57|45| M8 | 7.0 |10.0| 86.9 MEX1 10.2|(15.6)| 23 |19.2|/60| 7.0 |11.0| 9.0 3671 6454 | 0.89 | 2.88
BGCH30FN | 42 (90| 31.0 |7.0| 948 |72 |52 |[M10| 8.6 |[11.0| 67.8 | MBX1 8.0 [(15.6)| 28 [22.8| 80| 9.0 |14.0|12.0| 3743 5565 | 1.10 | 4.45
BGCH30FL | 42 (90| 31.0 [7.0{105.0|72 |52 |M10| 8.6 |11.0| 78.0 | MEX1 8.0 |(15.6)| 28 [22.8(80| 9.0 |14.0{12.0| 4848 7207 | 1.34 | 445
BGCH30FE | 42 (90| 31.0 |7.0]1130.5|72 |52 |M10| 86 |11.0|1103.5| M6X1 8.0 |(15.6)| 28 |22.8|80| 9.0 |[14.0|{12.0] 5397 8842 | 1.66 | 4.45
BGCH35FN | 48 |100| 33.0 |(7.5|111.5|82 |62 |M10| 86 |12.0| 80.5 | MEX1 8.0 | (16) | 34 [26.0/80| 9.0 |14.0{12.0| 5335 8272 | 1.50 | 6.25
BGCH35FL | 48 [100| 33.0 |7.5(123.5|82 |62 |M10| 8.6 |12.0]| 92.5 | M6EX1 8.0 | (16) | 34 [26.0/80| 9.0 |14.0{12.0| 6666 | 10336 1.90 | 6.25
BGCH35FE | 48 [100| 33.0 [7.5]|153.5|82 |62 |M10| 8.6 |12.0(122.5| M6X1 8.0| (16) | 34 [26.0/80| 9.0 |[14.0{12.0| 7334 |12777 | 2.54 | 6.25
BGCH45FN | 60 |120| 37.5 |8.9|129.0(100| 80 [M12|10.6|15.5| 94.0 | M8X1.25 |144| (16) | 45 |31.1|105(14.0|20.0{17.0] 7298 |11105)|2.27 | 9.60
BGCH45FL | 60 120 37.5 [8.9|145.0|100{ 80 |[M12|10.6|15.5|110.0| MBX1.25 |14.4| (16) | 45 [31.1|105/14.0(20.0{17.0] 8680 13209 | 2.68 | 9.60
BGCH45FE | 60 (120| 37.5 [8.9]174.0|100{ 80 |[M12 {10.6|15.5|139.0 | M8X1.25 |14.4| (16) | 45 [31.1|105/14.0(20.0{17.0{ 10030 | 16650 | 3.42 | 9.60
(S-B)
— N/ A L -

= L1 -

= = =

A —_— : |

T A Wl
BN, BL, BE

Spec. Assembly-mm Block-mm Rail-mm Rating load-Kgf| Block | Rail
Model H| W|W2|E L |[B|J[MQ)| / L1 QilH T1 N Wi HTI | F| d| D | h Cc co Kgf | KgfiM
BGCS15BS | 24 | 34 | 9.5 |3.0| 406 | 26 M4 | 48 | 22.2 M4X0.7 55| () |15|13.0(60( 45|75 |6.0| 584 996 0.10 | 1.28
BGCS15BN | 24 | 34 | 95 |3.0| 586 |26 | 26| M4 | 4.8 | 40.2 M4X0.7 55| (5) |15|13.0(60| 45| 7.5 |6.0| 1174 2001 0.17 | 1.28
BGCS15BL | 24 | 34 | 95 |3.0| 661 |26(26| M4 | 48 | 47.7 M4 X0.7 29| () |15|13.0|/60| 45| 7.5 |6.0| 1420 2419 | 0.18 | 1.28
BGCS20BS | 28 | 42 [11.0(4.5| 48.3 | 32 M5 | 55| 27.5 MEX1 5.1 |(15.6)|20|16.3(60| 6.0 | 9.5 | 85| 929 1600 | 0.17 | 2.15
BGCS20BN | 28 | 42 [11.0|4.5| 69.3 |32(32| M5 | 5.5 | 485 MEX1 5.1 |(15.6)|20|16.3|60| 6.0 | 95 |85| 1806 | 3110 | 0.26 | 2.15
BGCS25BS | 33 | 48 [12.5(|5.8| 54.5 | 35 ME | 6.8 | 32.3 MEX1 7.2 |(156)|23|19.2(60| 7.0 |11.0|9.0| 1295 | 2141 | 0.21 | 2.88
BGCS25BN | 33 | 48 [125|5.8| 79.7 |35(35| M6 | 6.8 | 57.5 M6EX1 7.2 |(156)|23|19.2(60| 7.0 |11.0|9.0| 2534 | 4188 | 0.38 | 2.88
BGCX25BN | 36 | 48 [12.5|5.8| 79.7 |35(35| M6 | 9.0 | 57.5 MEX1 10.2((15.6)|23|19.2|60| 7.0 {11.0|9.0| 2534 | 4188 | 040 | 2.88
BGCX25BL | 36 | 48 |12.5|5.8| 944 |35|35| M6 | 9.0 | 72.2 MEX1 10.2((15.6)|23|19.2|60| 7.0 {11.0|9.0| 3256 | 5383 | 0.54 | 2.88
BGCX25BE | 36 | 48 (12.5|5.8(109.1|35(50| M6 | 9.0 | 86.9 MEX1 10.2((15.6)|23|19.2|60| 7.0 {11.0|9.0| 3671 | 6454 | 0.67 | 2.88
BGCS30BS | 42 | 60 [16.0/7.0| 64.2 | 40 M8 | 10.0| 37.2 MEX1 8.0 |(15.6)|28|22.8(80| 9.0 |14.0|12.0] 1855 | 2758 | 0.50 | 4.45
BGCS30BN | 42 | 60 (16.0|7.0| S48 (40|40 | M8 (10.0| 67.8 MBEX1 8.0 |(15.6)| 28 |22.8|80| 9.0 |14.0|12.0] 3743 9565 | 0.80 | 4.45
BGCS30BL | 42 | 60 |16.0|7.0/105.0|40|40| M8 |10.0| 78.0 MEX1 8.0 |(156)| 28 |22.8(80| 9.0 |{14.0|12.0] 4848 7207 | 0.94 | 445
BGCS30BE | 42 | 60 |16.0|7.0|1305|40|60| M8 |10.0[103.5 MEX1 8.0 [(15.6)| 28 |122.8| 80| 9.0 |14.0|12.0] 5397 8842 | 1.16 | 4.45
BGCS35BS | 48 | 70 [18.0|7.5] 75.5 | 50 M& | 10.0| 445 MEX1 8.0 |(15.6)|34|26.0/ 80| 9.0 |14.0[12.0] 2674 | 4146 | 0.80 | 6.25
BGCS35BN | 48 | 70 [18.0|7.5/111.5|50|50| M8 [10.0| 80.5 M6EX1 8.0 |(15.6)| 34 |26.0{ 80| 9.0 |14.0|12.0] 5335 | 8272 | 1.20 | 6.25
BGCS35BL | 48 | 70 |18.0|7.5/123.5|50|50| M8 |10.0| 92.5 MEX1 8.0 |(15.6)|34|26.0{ 80| 9.0 |14.0|12.0| 6666 | 10336 | 1.40 | 6.25
BGCS35BE | 48 | 70 |[18.0|7.5|153.5|50(72| M8 [10.0|1225| M6X1 8.0 |(15.6)|34|26.0{ 80| 9.0 |14.0|12.0] 7334 | 12777 | 1.84 | 6.25
BGCS45BN | 60 | 86 |20.5(|8.9/129.0/60 (60 |M10|15.5| 94.0 | MBX1.25 |14.4| (16) | 45)|31.1|105/14.0{20.0|17.0] 7298 | 11105 | 1.64 | 9.60
BGCS45BL | 60 | 86 |20.5|8.9/145.0|60|60 (M10|15.5(110.0| M8X1.25 |14.4| (16) |45|31.1(105/14.0|20.0|17.0{ 8680 | 13209 | 1.93 | 9.60
BGCS45BE | 60 | 86 |20.5|8.9/174.0/ 60|80 |M10|15.5|139.0| MBX1.25 |14.4| (16) |45|31.1|105/14.0/20.0|17.0| 10030 | 16650 | 2.42 | 9.60




TABILIZED TRANSMISSION AS FORWARDING

BGX SERIES BGX(H-B)Standard type

N o L i
—
; s 7 N
|
I
EN, BL, BE
Spec. 5 : ;
Assembly-mm Block-mm Rail-mm Rating load-Kgf| Block | Rail
Model H W| W2 E L B J| MQ / k3 OilH ™ N Wi  H1 | F d D h C (1] Kgf | KgfiM

BGXH15BN| 28 |34| 95 | 30| 586 |26(26| M4 | 6.0 | 402 | M4X07 | 95| (5) |15 |130(60 | 45| 75| 6.0 | 951 2001 | 0.19 | 1.28
BGXH20BN| 30 |44 | 120 | 45| 69.3 |32|36| M5 | 6.5 | 48.5 MEX1 7.1]1(156)| 20 |16.3({60 | 60 | 9.5 | 85 | 1463 | 3110 | 0.31 | 215
BGXH20BL |30 (44| 12.0 (45| 821 |32|50| M5 | 6.5 | 61.3 MEX1 71]1(156)| 20 |16.3(60 | 60 | 95| 85 | 1896 | 4030 | 0.36 | 215
BGXH25BN| 40 |48 | 125 | 58| 79.7 |35/35| M6 | 9.0 | 57.5 MEX1 14.2| (15.6)| 23 |19.2( 60 | 7.0 |11.0| 9.0 | 2052 | 4188 | 045 | 2.88
BGXH25BL |40 (48| 12.5 | 5.8 | 944 |35|50| M6 | 9.0 | 72.2 MEX1 142| (156)| 23 |18.2( 60 | 7.0 |11.0| 5.0 | 2638 | 5383 | 0.66 | 2.88
BGXH25BE| 40|48 | 12.5 | 5.8 | 109.1 |35/50| M6 | 9.0 | 86.9 MEX1 142 (156) | 23 |19.2(60 | 7.0 |11.0| 9.0 | 2974 | 6454 | 0.80 | 2.88
BGXH30BN|45|60| 16.0 | 70| 94.8 |40/40| M8 |12.0| 67.8 MEX1 11.0| (15.6) | 28 |22.8| 80 | 9.0 |14.0|12.0| 3032 | 5565 | 0.91 | 445
BGXH30BL|45|60| 16.0 | 7.0 | 105.0 |[40|60| M8 |12.0| 78.0 MEX1 11.0| (156) | 28 |228| 80 | 9.0 |14.0|12.0| 3927 | 7207 | 1.04 | 445
BGXH30BE|45|60| 16.0 | 7.0 | 130.5 [40(60( M8 |12.0| 103.5 MEX1 11.0| (15.6) 228(80| 90 |140|120| 4372 | 8842 | 1.36 | 4.45
BGXH35BN|55|70| 18.0 | 7.5 111.5|50|/50| M8 [12.0| 80.5 MEX1 15.0| (15.6) 26.0( 80| 9.0 |140|120| 4321 | 8272 | 1.50 | 6.25
BGXH35BL|55|70| 18.0 | 7.5 | 123.5|50|72| M8 |12.0| 92.5 MEX1 15.0| (15.6) 26.0( 80| 9.0 |140|120| 5399 | 10336 | 1.80 | 6.25
BGXH35BE|55|70| 18.0 | 7.5 | 153.5 [50(72| M8 |12.0]| 1225 MEX1 15.0| (15.6) 26.0( 80| 9.0 |140|12.0| 5941 | 12777 | 2.34 | 6.25
BGXH45BN| 70 | 86| 20.5 | 8.9 | 129.0/60(60( M10 |18.0| 94.0 | MBX1.25 |24.4| (16) 31.1] 105/ 14.0| 20.0 |17.0] 5911 | 11105 | 2.28 | 9.60
BGXH45BL|70 (86| 20.5 | 89| 145.0/60|80| M10 |18.0| 110.0 | M8X1.25 [(24.4| (16) | 45 | 31.1| 105/14.0(20.0(17.0| 7031 | 13209 | 267 | 9.60
BGXH45BE| 70|86 | 20.5 | 89| 174.0/60(80( M10 | 18.0| 139.0 | MBX1.25 |24.4| (16) | 45 | 31.1| 105/ 14.0|20.0|17.0| 8124 | 16650 | 3.35 | 9.60

| RIRIR|B

BGX SERIES BGX(H-F)Standard type

FN . FL , FE
Spec. Rating
Assembly-mm Block-mm Rail-mm Block | Rail
load-Kgf
Model H| W |W2| E L B|J|MQ]| ih I L1 QilH T1 N |[WIi|H1|F | d D | h c Co Kgf | KgfiM

BGXH15FN (24 | 47 |16.0|/3.0| 58.6 | 38 |30| MS |44 | 80 | 40.2 | M4X0.7 [ 55| (5) |15|13.0|60 | 45| 7.5 | 6.0 | 951 2001 | 0.21 1.28
BGXH15FL | 24 | 47 |16.0{3.0| 66.1 | 38 (30| M5 |44 | 80 | 47.7 | M4X0.7 | 55| (5) |15|13.0|60 |45 |75 | 6.0 | 1150 | 2419 | 023 | 1.28
BGXH20FN | 30 | 63 |21.5/4.5]| 69.3 | 53 |40 M6 | 54 | 9.0 | 48.5 | M6X1 7.1|(156)| 20 |16.3| 60 | 6.0 |95 | 85| 1463 | 3110 | 040 | 2.15
BGXH20FL | 30| 63 [21.5/4.5]| 82.1 | 53 |40 M6 | 54 | 9.0 | 61.3 | M6X1 7.1 |(156)| 20 |16.3( 60 (6.0 | 9.5 | 85| 1896 | 4030 | 0.46 | 2.15
BGXH25FN | 36| 70 |23.5/58| 79.7 | 57 |45 M8 | 7.0 | 10.0| 57.5 | M6X1 |10.2|(156)| 23 |19.2| 60 | 7.0 [11.0|1 9.0 | 2052 | 4188 | 0.57 | 2.88
BGXH25FL | 36 | 70 |23.5/5.8| 944 | 57 (45| M8 | 7.0 | 100 | 722 | M6X1 |10.2|(156)| 23 |19.2|60 | 7.0 ([11.0| 9.0 | 2638 | 5383 | 0.72 | 2.88
BGXH25FE |36 | 70 |23.5/5.8|109.1| 57 |45| M8 | 7.0 (10.0| 869 | M6X1 |10.2|(156)| 23 |19.2|60 | 7.0 |11.0| 9.0 | 2974 | 6454 | 0.89 | 2.88
BGXH30FN (42| 90 [31.0|/7.0| 948 | 72 |52|M10| 86 | 11.0| 67.8 | M6X1 8.0 |(15.6)| 28 [22.8| 80 | 9.0 |14.0/12.0| 3032 | 5565 | 1.10 | 4.45
BGXH30FL |42 | 90 |31.0/7.0|105.0| 72 |52|M10| 86 [ 11.0| 78.0 | M6X1 8.0 | (15.6) | 28 |22.8| 80 | 9.0 |14.0|12.0| 3927 | 7207 | 1.34 | 4.45
BGXH30FE |42 | 90 |31.0/7.0|130.5| 72 |52/ M10| 86 | 11.0 |103.5| M6EX1 8.0 | (15.6) 22880 | 90 |140(12.0| 4372 | 8842 | 166 | 445
BGXH35FN (48 | 100 |33.0|/7.5|111.5| 82 |62/ M10 | 86 | 120 | 80.5 | M6X1 8.0 | (16) 26.0( 80 | 9.0 |140(12.0| 4321 | 8272 | 150 | 6.25
BGXH35FL |48 | 100 |33.0|7.5|123.5| 82 |62/ M10 | 86 [12.0| 925 | M6X1 8.0 | (16) 26.0| 80 | 9.0 |14.0|12.0] 5399 | 10336 | 1.90 | 6.25
BGXH35FE |48 | 100 |33.0/7.5|153.5| 82 |62/ M10 | 86 | 12.0 | 1225| M6X1 8.0 | (16) 26.0( 80 | 9.0 |[14.0(12.0| 5941 | 12777 | 254 | 6.25
BGXH45FN (60 | 120 |37.5/8.9| 129.0 ({100|80| M12 |10.6| 15.5 | 94.0 | MBX1.25 [14.4| (16) 31.11105(14.0|/20.0|17.0] 5911 | 11105 | 2.27 | 9.60
BGXH45FL | 60| 120 |37.5/8.9|145.0|100(80| M12 |10.6| 15.5 | 110.0| M8X1.25 |14.4| (16) 31.1(105(14.0(20.0(17.0| 7031 | 13209 | 268 | 9.60
BGXH45FE |60 | 120 |37.5/8.9|174.0 (100/80| M12 |10.6| 15.5 | 139.0| MBX1.25 |144| (16) | 45 |31.1|105|14.0{20.0|17.0| 8124 | 16650 | 3.42 | 9.60

5 &R R[IRIB




BGX SERIES BGX(S-B)Standard type

o N A p— L —_—
B ={ql= ]
MQ ——
ot —— =]
2
? = : B
%-@i ; L}
00— P I r | ===
* .
-
* BN, BL, BE
Spec. : Rating ;
Assembly-mm Block-mm Rail-mm Block | Rail
load-Kgf
Model H| | W |[W2| E L B|J|MQ| [ L1 Oil H T N |[WI|H1| F d D h C CO0 | Kgf | KgfiM
BGXS15BS | 24 | 34 | 95| 30| 406 | 26 M4 | 48 | 22.2 | M4X0.7 | 55| (5) | 15 |13.0| 60 |45 |75 | 6.0 473 | 996 | 0.10 | 1.28
BGXS15BN | 24 | 34 |95 | 30| 586 | 26 |26 | M4 | 48 | 40.2 | M4X0.7 | 55| (5) | 15 |13.0| 60 | 45|75 | 6.0 951 2001 0.17 | 1.28
BGXS15BL | 24 | 34 |95 | 30| 66.1 | 26 (26| M4 | 48 | 47.7 | M4X0.7 | 55| (5) | 15 |[13.0| 60 |45 (7.5 | 6.0 | 1150 |[2419| 0.18 | 1.28
BGXS20BS | 28 | 42 110/ 45| 483 | 32 M5 | 5.5 | 27.5 MBX1 5.1 |(15.6)| 20 |16.3| 60 [ 60| 95| 85| 753 |1600| 0.17 | 2.15
BGXS20BN | 28 | 42 (11045 | 693 | 32 |32| M5 | 5.5 | 485 MBX1 5.1 [(15.6)| 20 |16.3| 60 [ 6.0 | 9.5 | 8.5 | 1463 | 3110| 0.26 | 2.15
BGXS25BS | 33 | 48 |125| 58| 545 | 35 MG | 6.8 | 32.3 MBX1 7.2 |(15.8)| 23 |19.2| 60 | 7.0 |11.0| 9.0 | 1049 | 2141 | 0.21 | 2.88
BGXS25BN | 33 | 48 |125| 58| 797 | 35 |35| M6 | 6.8 | 57.5 MBX1 7.2 |[(156)| 23 |19.2| 60 | 7.0 |11.0| 9.0 | 2052 | 4188 | 0.38 | 2.88
BGXX25BN | 36 | 48 (125|658 | 79.7 | 35 |35| M6 | 9.0 | 57.5 MeX1 |10.2|(15.6)| 23 |19.2| 60 | 7.0 [11.0| 9.0 | 2052 | 4188 | 0.40 | 2.88
BGXX25BL | 36 | 48 |125| 58| 944 | 35 |35| M6 | 8.0 | 72.2 MEX1 |10.2((15.6)] 23 |18.2| 60 | 7.0 |11.0| 9.0 | 2638 | 5383 | 0.54 | 2.88
BGXX25BE | 36 | 48 |12.5| 5.8 | 109.1 | 35 |50 | M6 | 9.0 | 86.9 M6X1 |10.2|(156)| 23 (19.2| 60 | 7.0 |11.0| 9.0 | 2974 | 6454 | 0.67 | 2.88
BGXS30BS | 42 | 60 |16.0| 7.0 | 64.2 | 40 M8 |10.0| 37.2 MEX1 8.0 ((15.6)| 28 |22.8| 80 | 9.0 |14.0|12.0| 1503 | 2758 | 0.50 | 4.45
BGXS30BN | 42 | 60 |16.0| 70| 948 | 40 (40| M8 |10.0| 67.8 MBX1 B.0 ((15.6)| 28 |22.8| 80 | 9.0 |14.0|12.0| 3032 | 5565 | 0.80 | 4.45
BGXS30BL | 42 | 60 (16.0| 7.0 | 105.0 | 40 |40 | M8 |10.0| 78.0 MEX 1 8.0 |(156)| 28 |22.8| 80 | 9.0 |14.0({12.0] 3927 | 7207 | 094 | 4.45
BGXS30BE | 42 | 60 (160 7.0 | 1305 | 40 |60 | M8 |10.0|103.5| MEX1 8.0 |(15.6)| 28 |22.8| 80 | 9.0 |14.0{12.0] 4372 | 8842 | 1.16 | 4.45
BGXS35BS | 48 | 70 |180| 75| 755 | 50 M8 |10.0| 44.5 MBX1 8.0 ((15.6)| 34 |26.0| 80 | 9.0 |14.0|12.0| 2166 | 4146 | 0.80 | 6.25
BGXS35BN | 48 | 70 |180( 75| 1115 | 50 |50 | M8 |10.0| 80.5 MBX1 8.0 ((15.6)| 34 |26.0| 80 | 9.0 |14.0|12.0| 4321 | B272| 1.20 | 6.25
BGXS35BL | 48 | 70 (180| 7.5 | 123.5 | 50 |50 | M8 |10.0| 92.5 MBX1 8.0 |[(15.6)| 34 |26.0| 80 | 9.0 |14.0(12.0] 5399 |10336| 1.40 | 6.25
BGXS35BE | 48 | 70 |18.0| 7.5 | 1535 | 50 (72| M8 |10.0]122.5| MBX1 8.0 |(156)| 34 |26.0| 80 | 9.0 |14.0({12.0| 5941 12777 1.84 | 6.25
BGXS45BN | 60 | 86 |20.5|/ 89| 1290 | 60 |60 [M10|15.5| 94.0 | MBX1.25 (144 (16) | 45 |31.1|105(14.0|120.0(17.0| 5911 |11105] 1.64 | 9.60
BGXS45BL | 60 | 86 |20.5| 8.9 | 145.0 | 60 |60 |[M10|15.5(110.0| M8X1.25 [14.4| (16) | 45 |31.1| 105 [14.0|20.0(17.0] 7031 |13209| 1.93 | 9.60
BGXS45BE | 60 | 86 |205| 89| 1740 | 60 |80 |M10|15.5|139.0| M8X1.25 |14.4| (16) | 45 |31.1|105|14.0|20.0(17.0| 8124 |16650| 2.42 | 9.60
Accuracy Standard
TC (m) 4 40
Griﬂ{iiﬂg ’ D S Normal ( N )
surface —\ B High ( H )
| ab 120 Precision ( P)
Super-Precision ( SP )
feet 10
Ultra-Precision ( UP )
0
1000 2000 3000 4000
Length of rail { mm )
A Fig.1-1 BG rail length and running parallelism
Unit : mm
GRADE MNormal .High Precision Super-Precision Ultra-Precision
ITEM (N) (H) (P) (SP) (UP)
| 0 0 0
Tolerance of height ( H) $0.1 iﬂ-ﬂ‘t. -0.04 -0.02 -0.01 High accuracy
Tolerance of width (W) +0.1 +0.04 0 0 0
.~ -0.04 -0.02 -0.01 Low noise
Difference of heights (AH) 0.03 | 0.02 0.0l 0.005 0.003
Diff f width W . .
erence of widths (AW) 0.03  0.02 0.0l 0.005 0.003 Low friction

Running parallelism of BG Block

surface @ with respect to surface @

Running parallelism of BG Block
surface D] with respect to surface

2 C Refer to Fig. 1-1

A D Refer to Fig. 1-1

Low vibration




| Only 1/6~-1/10 Fluctuation range for caged block
1000
1000 -
p— Model No:BGXH25FN-21 _ma Model No:BGCH25FN-21
o _ Speed: 10 mm/s D soh Speed: 10 mm/s
® 800 g -
S o0 | c TRE
(1] ]
- = % 600 [ _
- G600 - ~ Fluctuation range 6%
E EI}III: Fluctuation range 38% m 500
= - = a0of
D 400 =g -
= e S 300}
o o
®C , o 200 « zuni
100 [
1l}ﬂ[ g E i ofs ey o
I | I | | | | | |
g . F PRI R T L 0 50 100 150 | 200 | 250
Stroke (mm) Stroke (mm)
(H-B)
L -
P——a ] =—— =
MQ
e = J =
{ 1% | i
ot 1] L oLt
..T- .i" -.i'.-
13
B
* J(_'!’I’E_? BN, BL, BE
Spec. | Assembly-mm Block-mm Rail-mm Rating load-Kgf | Block| Rail
Model HIWW2  E| L [BlJ(mMQ| ]| L1 Qil H T N |[Wi|HI|F|d | D| h c C0 | Kgf |Kgfim
BGCH15BN |28 |34 |95 | 30| 586 |26 |26 | M4 |6.0| 40.2 MdX0.7 | 9.5 (5) 15 (13.0|60 (45 | 75| 6.0 1174 | 2001 | 0.19 | 1.28
BGCH20BN | 30 |44 |[120|45| 69.3 | 32|36 | M5 |6.5| 485 MEX1 71 1(156) | 20 |16.3|60 (6.0 | 95| 85| 1806 | 3110 | 0.31 | 215
BGCH20BL (3044|120 45| 821 (32 |36 M5 |6.5| 61.3 MBEX1 71 |(156) | 20 |16.3| 60 | 6.0 | 9.5 | 85 | 2341 4030 | 0.36 | 2.15
BGCH25BN |40 |48 |125|/ 58| 79.7 |35 |35| M6 |9.0| 57.5 MBEX1 14.2|(156) | 23 |19.2| 60 | 7.0 |11.0| 9.0 | 2534 | 4188 | 045 | 2.88
BGCH25BL (4048 |125|/ 58| 944 (35|35 M6 |9.0| 72.2 MBEX1 14.2| (156) | 23 |19.2| 60 | 7.0 |11.0| 9.0 | 3256 | 5383 | 0.66 | 2.88
BGCH25BE (4048 |125|/ 581091 (35|50 M6 |9.0| 86.9 MBX1 14.2|(156) | 23 |19.2| 60 | 7.0 | 11.0| 9.0 | 3671 6454 | 0.80 | 2.88
BGCH30BN |45 |60 |16.0|7.0| 948 |40 |40 | M8 |12.0| 67.8 MBEX1 11.0| (156) | 28 |22.8| 80 | 9.0 |14.0|12.0] 3743 | 5565 | 0.91 | 4.45
BGCH30BL (45|60 |16.0| 7.0 | 105.0 | 40 {40 | M8 [12.0| 78.0 MBEX1 11.0| (156) | 28 |22.8| 80 | 9.0 |14.0[12.0| 4848 7207 | 1.04 | 445
BGCH30BE |45 |60[16.0| 7.0 | 130.5 | 40 |60 | M8 [12.0| 103.5| M6X1 |11.0|(15.6)| 28 |22.8| 80 | 9.0 |14.0|12.0| 5397 | 8842 | 1.36 | 4.45
BGCH35BN |55|70(|18.0|75|111.5|50 |50 | M8 |12.0| 80.5 MBEX1 15.0| (156) | 34 |26.0| 80 | 9.0 |14.0(12.0| 5335 | 8272 | 1.50 | 6.25
BGCH35BL [55|70(18.0|7.5|123.5(50 |50 | M8 [12.0] 92.5 MBEX1 15.0( (156) | 34 |26.0| 80 | 9.0 |140|12.0| 6666 | 10336 | 1.80 | 6.25
BGCH35BE |55|70(|18.0|7.5]|1535|50 |72 | M8 |12.0] 122.5 MBEX1 15.0| (156) | 34 |26.0| 80 | 9.0 | 14.0|12.0| 7334 | 12777 | 2.34 | 6.25
BGCH45BN | 70 | 86 |20.5| 8.9 | 129.0 | 60 | 60 |M10|18.0| 94.0 | M8X1.25 |244| (16) | 45 [31.1|105{14.0(20.0|17.0| 7298 | 11105 | 2.28 | 9.60
BGCH45BL (70| 86 |20.5|/ 8.9 |145.0 | 60 |60 |M10(18.0/ 110.0| M8X1.25 |24.4| (16) | 45 | 31.1|105|14.0|20.0|17.0] 8680 | 13209 | 2.67 | 9.60
BGCH45BE | 70 | 86 |20.5| 8.9 |174.0 | 60 | 80 |M10|18.0| 139.0 | M8X1.25 |24.4| (16) | 45 |31.1/105|14.0|20.0|17.0| 10030 | 16650 | 3.35 | 9.60




More Oil

Model Number Coding

BGC H 25 BN - 2 - -BLH~ESU0d - BPY - BZ1H - Bl
Type Code : Two block per rail Preload type :
BGX : Without Cage ZF : Clearance
BGC : With Cage Seal Type : Z0 : No preload
: with end & side seals Z1 : Light preload

UU : just with end seals Z2 : Medium preload
Height Type ZE .: wfth end scrapers Z3 : Heavy preload
H : high assembly DD : W:Ith double end &
S : low assembly side seals Pracision :

KK : with double end , side
seals & end scrapers

SS : with an inner seal,side

. seals & end seals

Size No / mm SD : with an inner seal,side

seals & double end seals

X : custom assembly N : Normal

H : High

P : Precision

SP : Super-precision
UP : Ultra-precision

Flange & length type : Rail length
BN : Normal Length without Flange

BS : Short Length without Flange

EL : Long Length without Flange

BE : Extra-Long Length without Flange Rail type

FN : Normal Length with Flange L - with screw hole
FS . Short Length with Flange

FL : Long Length with Flange

FE : Extra-Long Length with Flange

Two sets per axis

C : with tapped hole

MODETECH CORPORATION
28 Industrial 14th Road, Dali City
Taiwan 412, R. O. C.

Tel: 8864.2271.6368

Fax: 8864.2271.4589
Http://www.2bmode.com

BG SERIES-EG



	STAF-1
	STAF-3
	STAF-4
	STAF-5
	STAF-6
	STAF-2

